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dtest
Documentation

Phase 1 . definition of execution steps of each DTester

The user adds execution steps to Dtester with addRunStep().

Barrier type steps automatically register to DTestMaster with registerForBarrier().
Then DTesters must register to DTestMaster with register().

DTestMaster DTester DTester

addRunStep(ok) | =
i
addFiunStep(barrier)|

registerForBarrier()

addR unStep(expectrrom Command)

L
| |
| |
| |
addFiunSte;L(runCommand) |
i i
addFiunSted(waitCommandTerminaiionj |
i i
addR unStep%(barrier) !
1 1
Ij registerForBarrieﬂ()

|
Ij register() |
| g
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Phase 2 : the user starts test sequence with startTestSequence().

First, Dtester threads are initialized and launched.

Then, each step previously defined is executed.

When a DTester reaches a barrier, it informs DTestMaster with barrier().

If other Dtesters are missing on this barrier, the DTester waits them.

Finally, the DTestMaster wait the end of each DTester with waitTestSequenceEnd().

% DTestMaster DTester
ser

u

initialize()

initialize()

DTester

|
|
|
|
|
1

run()

Each stepis
1| executed

runi)

barrier()

waitTestSequenceEnd()
—

| |

startTestSequence() l |

runi) |

|

| 1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
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DTestMaster rtig:DTester billard1:DTester
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I addFIunStep{"ok","GEHTI’l RTIG and Billard Starts")|
addRunStep("runCom mkand","fsharefscriptsfmyCE RTI_env.sh")
addFIunStep{"runConhmand",user@host:rtig}

addFIunStep{"expectFmIﬂCGmmand","C.EFITI RTIG Jup and running”)
addRunStep("barrier’,"HTIG started")

DregisterForBarrierl{}l
addRunStep("barrier","All Billard(s) ended")

DregisterForBarrier(}
addRunStep("terminateCommand")

addRunStep("waitCominandTermination")
addFIunStep{"oI&"."CEF’IiTI RTIG and Billard Ends")

L

billard2:DTester

This is the first part of
the representation of
the ditest sequence
used for testing billard
and rtig.

[~

|
|
|
|
|
|
|
|
|
|
|
|

addRunStep("barrier","FITIG started") |
I registerForBarrier()

I
addR unStep[runCl-—‘IfImmand,".fsharef'scriptsx'myICEFITI_env.sh")

addHunStep{"runCpommand","expor‘[ DISPLA‘I’=IocthosI:D.D"}

addF'{unStep{"rundommand",user@host :’rirstbillardj

=

addFIunStep("expEIctFromGommand"."Press IIENTEFI to start executign”

addR unStep("barrIer","First billard started")

I_‘—‘_IregisterForBarrier(}l
addRunStep("barrier","All Billard(s) started")

registerForBarrier()

addRunStep(' exp%ctme Command","Exiting;")

|
addFIunSIep("termpnateGommand"}

|
i
I
I
addFIunStep("senQTaCommand","\n"} !
[
|
]
I
|

addR unStep("barrIer","All Billard(s) ended")

i

agdRunStep("barrier" "RTIG started")
I

I
i

D :registerForBarrier(j
I

acIdFI unStep(runCummand,"stharefscriptsfmyCEFITIJenv.sh"}

addRunStep("runCommand", jexport DISPLAY =localhpst:0.0")

acIdFI unStep("barrier”,"First billard started")

r gisterForBarrier()
addR unStep("runCommand",Lfser@host:billardj

addRunStep("expectFrom Corinmand","Synchranizaﬂop"}

addRunStep("barrier","All BiIIEIrd(s) started")

D rIagisterForBarrier()
acIdFIunS’rep{"expectFrom CorIImand","Exiting."j

addR unStep("terminateComn'Iand"}I

ackR unStep("barrier","All BillaI’d(s) ended")

{ﬂegisterForBar’rier{}

register()
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% DTestMaster rtig:DTester billard1:DTester billard2:DTester
User
artTestSElquence() | | |
run() | - | |
< initialize() | initialize() b |
initialize() i
run()
Tun(J i)

ok{"CERTIRTIG and Billard Starts")
— barrier{"RTI{G| started")

rJnGDmmand("fshare’sczrilptsfmyCEF{Tl_env.sh"} arrier("RTIG started") ]

expectFromCommand{|GERTIRTIG up and running")
=
barrier{"RTIG started")
—

barrier("BTIG started")
barrier("Al| billards ended")

barrier("All billards ended ?‘

1=
Wi

barrier{"ATIG started")
—

L]

arrier("RTIG starteq”

runCommand("/share/scripts{myCERT|_env.sh")
runCommand("/share/gcripts/myCERTI|_env.sh")

— =
runCommand("export |2 ISPLAY <localhost:0.0"
runCommand("export|DISPLAY =localhost:0.0") =
—
runCommand("liser@host:firsthillard") barrier("First| billard started")
] barrier("First billard started|)f&=
expectFromCommand("Pregss ENTER to start execution")
—
barrier("Firgt billard started")
g (] et} ! ! ;I
barrier("Fifst billard started") runCemmand|"liser@host:billard")
P
expectFromCommand(|synchronization”)
barrier{"Alll billards started") —
barrier("Al| hillards started") —
sendToQammand{"n")
expadiErorClolamand EX g ) barrier("Alljllards started")
= ]
barrier("All billards started")
termingteCommandy() expectFromClommand("Exiting.")
—] —
barrier("All|Hillards ended") terminafelGommancl()
= —
barrier("All Billards ended")
barrier(" Al billards ended") —
barrier{"All billards|ended")
terminafgCommandi)

waitCommandTermination()

u
|
|
|
I

=
ok ("CERTI RT|IG: and Billard Ends"} e s
waitTestpequenceEnd() & is is tiie second pa

of the rebresentatinn of

&

T
|
|
|
|
|
1

the dtes{ sequence
If other Dtesters are missingj used forltesting billard

ESEEEE A R TR D

= T
|
|
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diagram_sequence_dtest_example2

laguiole:computer

<<executable==> D

DTestMaster

Dtester

<<executable=>

<<gxecutable>>

Dtester

<<gxecuiablex>

Dtester

<<SshSessionHandler==

<<executables=

rtig
<<SUpPRort>>

s

lanox:com puter

<<SshSessipnHandler=>

<<gxecutables=

billard

r:r:suplpor‘r}}

e

grasse:computer

=<SshSessionHandlers=

<<zexecutable== D

billard

<<supports>

carlitte:computer

Here is represented the interaction between rig, billards and their DTesters located on different computers.
Each Dtester is registred in a DTestMaster which coordinates the synchronization of all DTesters mainly with the barrier

synchronization method.

A DTester is associated to one executable ( here rtig or billard ) | they can communicate through a remote ssh connection

SshSessionHandler started by the DTester.

Cnce this connection is established, a DTester can send asynchronous commands to its executable and wait for output

data to control the behavior of its executable.

diagram_deployment_dtest
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